11542 20203 08€& 09 mEYA Y HER

MR

et 7 Ats o

AS H19 T

g/ OheEtZE R AsE122 16 (M5 S)

SMIOIN) : http://san.cathms_kr
2020
<m2|e| oL BtHo|:l 442 Ot2|0>
* ko] of 1=l ofalof
dYoME st=Hol 217 T Ao FMF oL 9l 3 oXte| ZEut O A2 MAlstD

AULE FM7|of = 2lFe

= &2 T2 BOX|A 2= M((Eel ol tiet 52l2| °f%0| O o X}
(@t2|oh oAl F=Oo{X|2|2t= A0| A0 RACL E O AMO= 1 oX7F S H = OFE 2 LEHSHY
Zd0|H, 11 Oh=0| Ynt=Aol2tn 3 Z0|2t= of| 10| ALt
* TMFS| oL, f2|2] ojHL

O2|Of= Ofls=E 2] O{HL|O|AICt O of4=E=2 27+l
St=Eol oL = E|AMCE Ofl=HHM= A 58 AF7| 20| Aol ofHL|2f HXt
AtO[Of 22Xt A E HOIFACL Ol=HH XM= O{THLO|A "O| AtEIO| OjTL|2| OFS Y L|C" St
LESHACE O|ZM Ol=Ho| At 22 2= J2|AE Q12 OF2|0Fe| X7t &1 Ot2|Ot=
O{L|Z} Z| A E}
* W 3|o| ROl Of2|of

AxE

I_—._
S

SA0 St=EO[A|Z|0f Op2|OtE= EEgt

23 SN (20203 082 01 ~ 20203 08 079)
gt o b g | o ]S g | [0 Fad Hole
6 MR 27 8 7 |27 @zofaatAon|  8~9 1 0|&0H (AR} 8
B | ZBpeEd 8 |16 | zEsEAm -8 | 5 | OS(RAE) 67
4 oHe 8 0 | gZaOpt -7 | 12 EEEN) 8
6 FUS(LZ0[A|0}) 8 1 Hoty 7~12 16 TH2(QotOteEr 7~8
12 PES (/D) 910 5| HAYYROlLE 7 7 VERIEIETY 6~8
5| AusHLy) 8 | 10| zssley) 7-8 | 3 A4 (@) 8
0 | fzdesdy | 8 | 2 | HIsma 8 | 1] dssecE) 8
4 M Z(Ot2E| L) 8 4 iDIOH(7t (%2 8 6 A5 (0] o) 8
8 | AN 8
DANYRZ (20203 08€ 019 ~ 20203 08€ 079Y)
12 AHZ(2A 8 5 HA QY2 O[LtER 7 10 EES FEll2 A 8
1 | usEMER) 2
NS Py eIy (07€¥ 26¥Y ~ 08€1 019)
D93 W 2,980,000 n &
nAAI| W 916,000 nmRPE2HIQ| 9 H
nANYR2Z| W 236,000 W 5,719,680
el w 4,500,000 o|n s
YrLU3| W 10,000 EQ0o|nt 473
NELRAYH|| W 84,000 ns 949y
=523 W 3,000 My o|Ingle
ey W 11,971,545 Ao 141Y
F- |

22]%50|0F1| (M9} 070-8853—7148) |

* SC|H| e SH|F

WIETIES
* EM H|=

“ R XS AL 7HS (B 25

15,0008
3,000
1,300

2| &

Al

AL 2

L=

| ==

=]
x

[

I M2

7tEE= AL8E7h

AESH oML (Y R) OF2[0f= 40| Fot 7|8 St=H2o| ot5 ofs=d2of Zof AR Lt 2 AMCt
d2HEM ol=ENHAM StA= 20| 20, st=H2o| 50| oOt=Y 20| M O|RO{X|1 AZE -Of
O|AIX| QQFCE OF2|Ot7t St E21 0|9t 242 e A2l= M MOjE E6A stAZHo| TASHA
E2it} o= D2|A20 3 AP0 LEEtY RO RN, OF2[0ts B2E A2|AEQ10) 287
7 E|Qlen, ok ol=" S B Es F2(Q W3lol 28 7|7t E|UL.

O] AFA| ZH Ol H| X} 2 3t
2igal QX 10A] 308 [+ APR A 1 241-6748
mal (g, 299 Q35 07A] 302 29 FAX : 242-6748
% 209 27 104A] 302 ALH| 2 241-6747
EQUFELULL) |2F 064 =% oy T4 : 241-6749
=o LE0|A QM 10A| 308 22|s : 070-8853-7148
EESIEL: IV 235 07A] 305

¥ MY

S 1L =AM

L]

S e

o

S K2 ZA

& 22 oM

22|

e, MYOIH Y| A2

20N 9,1-5
S "LE Z=UTH "R gkl =Y

A 19971.11-137

HS0 o

N

i

v =237

v

S 42 ST =Y £ <d8 SH =Y ™ Au>
APR AN He2E Lo 0.8% 15¢(E)2 842 &H ff=2o|H
3 o

& AT M2 =L 29

083 14¢(g) gztetHct

DIZo| B 7lgY YLtk
0. M3 28 =2 Mof EXO|A
:08E 142(#) 19: 30

Al




O =0 - I I arn i 1 g0 20yl —lo =2 | I | I3

I

Tt E T =N T - T

OjAt= SlE U

<£% 2E2LH9 TH> e = = BlE
O 14,22-33 & O3 M19FZHEY 092 ~ 82 159) | 0. 43 & (|5 & 0|
olgt led =W 2152168 PN 1521538 @ 18 &5 8 a4 Al 088 15&(%) 10: 30
0. ¥ 20 =Y EXMO|A}
o TSN UA| : 082 15YU(E) 18 : 00
C8% @3 0Int (082 169 ) CI2 % T4 0INt (082 169 ) 0. 915 X20 Y & 04
=0 25N s 1M 25N OEIAl J 162 |( |) 10 : 30
Zxy7 o|gi=
7! % s
) (HIHAI2) (ZA2]2)
=t
A= oY

o JU ™Y SNt

08 102U(Z) | 082 11(2h | 082 122U(4) | 088 13U(S) | 08F 14U(F) | 08 15%U(E)

= =]

i StEw X[l ojo|g (7)) 3| M
Oj AL & mE=XeJ|
(AtER73h =&t (HIZU47h (FAIOh)  |[(2P) MY LT
7|(C12H|2), =0loj(7tEa|&zhe|
O|HAS(Eufe)o] mEAFDZ Q8|

JEIZ g 32P7§f*'01| 2

ook @ 2 rir
ro @@ 4% mn Ho on

B




